74— k7 (fortran)
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implicit double precision(a-h,0-z)
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dimension ary1(499)
dimension ary2(499,499)

parameter 3C
parameter 33, EHEEHS T OHAIMEHLET,
implicit double precision(a-h,0-z)
parameter(ind=499)
dimension ary(ind)

data 3
data b, EHEESTOHEIMEHLET,
implicit double precision(a-h,0-z)
data paral,para2/1,2/



function B8%%
B A EE59 Hma3L T,

implicit double precision(a-h,0-z)
1=1

=2

k=add(,))

write(*,*)k

stop

end

function add(,j)

implicit double precision(a-h,0-z)
add=itj

return

end
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subroutine B4
B A E ST Hmn L TT,

implicit double precision(a-h,0-z)
1=1

=2

call add(,j,k)

write(*, %)k

stop

end

subroutine add(,j,k)

implicit double precision(a-h,0-z)
k=it

return

end
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common

common 3%, B O E AT DLAITHERLET,

implicit double precision(a-h,0-z)
input()

output()

stop

end

AT FBE
subroutine input()
implicit double precision(a-h,0-z)
common /datal/i,
=1
=2
return
end

TH ) R
subroutine output()
implicit double precision(a-h,0-z)

common /datalh,j
write(*,%)i,j
return
end
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include XC

7 7 A NEGHRAL R ICTCT, AT AESEA £ O THES LTI LEHTT,
include “head.for”
call hoge()
stop
end

subroutine hoge()
include “head.for”

head.for
implicit double precision(a-h,0-z)
dimension ary1(499)
dimension ary2(499,499)

do 3¢
do TV IR LEAT OB TT,
1=0
do1=1,49
=i+l
enddo



if 3C
if SUISAFIHED LT,

=1

=2

ifG.eq.1 .and. j.eq.2)then
write(*,%)i

elseifi.nel .or. j.ne.2)then
write(*, %)

else
write(*,*)i)

endif

ORI TR E R0 £,
eqFE L

le:LIF

1t A

gelll

gtk RKEWN

and:7/>D
or - F7iX

cycle, exit 3
cycle UL, N—T7DEFUBET DB TY, exit LI—T%HE T BT,
do1=1,10
if(i1t.5) cycle
exit
enddo
write(*,*)i
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77 A VEE
T 7 A IV DAL
open(10,file="hoge.inf")
do1=1,10
read(10,%)ary(@)
enddo
close(10)

77 A MIEZIAL
open(10,file="hoge.inf")
do1=1,10

write(10,%)ary()
enddo
close(10)



goto 3
goto U FRLORRITHEH L £ 7,

do 1001=1,10
if(i.eq.5)goto 200
100 continue
200 continue



